SERPAC 1162HL

Electronic Enclosures

9.71
OVERALL LENGTH .82 INSIDE 6.00 INSIDE
A TOP HEIGHT BOTTOM HEIGHT
] j
7 s N i j
=S | : = |
. 8.23
| OVERALL
| B WIDTH
| 6.26 MAXIMUM
INSIDE WIDTH
i 4.25 5.84 MINIMUM
: | BOSSES INSIDE WIDTH
| |
Q‘t | LJ/_; %, S NN\
S O ) SECTION )
:W .N: \\.// :[ .|: A_A
A-<a
6.25 BOSSES
—0
©
8.16 MAXIMUM o 0 , ,
INSIDE LENGTH o — 2 Mounfting Brackets included, see
sheet 2 for dimensions and for optional
27 < 4 mounting Corner Feet and Brackets.
7 F l
SER! ©
Ll ny < UL listed to UL 508A 4/4X standard
: (UL file E519183).
HEIGHT OVERALL -Material: UV stabilized Polycarbonate
, Flammability VO, F1 rated material.
HEIGHT o -
- 3 -Watertight enclosure meets or
o exceed Nema 4 and or IPé67.
PARTS INCLUDED
P/N Qty. Description
[T52HLT 1 [152 Hinge Latch Top
: | ml| Aluminum and Plasfic Panel Kifs e Mmoo
0 ) ?ggﬁurﬁﬁjﬁ%g\r‘eﬂ' (S)%?i CS) n?%rse 5-0. 7011PC | 1| Tseries Safefylafch (PC)
LFOR #10 Bottom Panel Kit p/n 71008 . s ! Purge vave O-ing
44 BOSS | \ e 8150 1 150 O-Ring
SELF TAPPING HEIGHT SECTION Top Panel Kit p/n 7100T 1305 | 2 Mounfing Bracket
SCREW 7 73 MINIMUM Hlnged TQp Panel Kit p_/n Z] OOTH 6028 4 SS #10 X 5/8" Pan H/L
INSIDE LENGTH ~ B-B The plastice panel option is: 5/22/2023
Hinged Panel Kit p/n 7100HP 2009 Wright Ave. La Verne, CA 91750

Ph. (626) 331-0517 Fx. (626) 331-8584 serpac.com




SERPAC 1162 Mounting Bracket Dimensions

Electronic Enclosures

~ 4X @ .29 FOR
7.80 FLANGE LENGTH 1/4" SCREW
pN
/Z22\ H
aTr= aase EeE INCLUDED STANDARD
N 1305 FLANGE KIT
@) N
2 PARTS INCLUDED IN KIT PN 1305
P/N Qty. Description
1305 2 Mounting Bracket
6028 4 SS #10 X 5/8" Pan Combo H/L Screw

TOP & LATCHES REMOVED
FOR CLARITY FROM ALL VIEWS

(2) FLANGE
fpn 1305
DY

I N 4 I OPTIONAL 1355 CORNER BRACKET KIT
OPTIONAL 1306 CORNER FEET KIT \ i e T 0 G g / PN e RIS INCLUDED INKITPN 1355
PARTS INCLUDED IN KIT pn.13.06 ' T LT T / 1355 4 Mounting Corner Bracket
]P3/Cl)‘l(6 Q;y- Moun?iﬁ;cggfrlﬁgr — / 6028 4 SS #10 X 5/8" Pan Combo H/L Screw
6028 4 SS #10 X 5/8" Pan Combo H/L Screw
7.63 4X D .29 FOR 4X] 2332;3,5
.85 1/4" SCREW
o)
g&\\‘ﬂ/
7 48 /.64
i 6.10
(4) SCREW
6.73
(4) SCREW
pn 6028
.
(4) CORNER BRACKET
pn 1355 9.64
6.78 (4) CORNER FEET 2/24/2023
pn 1305 2009 Wright Ave. La Verne, CA 21750

Ph. (626) 331-0517 Fx. (626) 331-8584 serpac.com




SERPAC 7100T Aluminum Top Panel Kit for

Electronic Enclosures [ 4.2 H L, I11582HL and 1152HS

8.04

—(4) SCREW
pn 6028
\ j \
| GROUND STRAP
HOLE
6.14
\PANEL
pn 71040
\
R.35
4x

OPTIONAL KIT&
pon 7100T

PARTS INCLUDED IN KIT pn 7100T
P/N Qty. Description
71040 1 Aluminum Top Panel
6029 4 SS #10 X 3/8" Pan HL Screw

5/22/2023
2009 Wright Ave. La Verne, CA 21750
Ph. (626) 331-0517 Fx. (626) 331-8584 serpac.com




SERPAC 71040 Aluminum Top Panel

Electronic Enclosures 1142H I__

I1152HL and I1152HS

R.35
8.04 - |
] 4PLC'S
O | O
-35L{:K\\\\
D .17
6.14
5.66
\\\ @ .20 THRU
4PLC'S
7.56 -

13—

5/22/2023
2009 Wright Ave. La Verne, CA 21750
Ph. (626) 331-0517 Fx. (626) 331-8584 serpac.com




7100B Aluminum Bottom Panel Kit for
SEREIPAC 1142HL., 1152HL and I152HS

6.87
\ \
| | GROUND STRAPﬁ |
HOLE
4.98
\PANEL
(4) SCREW pn 7200
pn 6029 ‘
\ \
\ \

OPTIONAL KIT J

pon 7100B
i = * PARTS INCLUDED IN pn 7100B
Ll ] P/N Qty. Description
71000 1 Aluminum Bottom Panel
— .13 6029 4 SS #10 X 3/8" Pan HL Screw

11/23/2022

2009 Wright Ave. La Verne, CA 21750
Ph. (626) 331-0517 Fx. (626) 331-8584 serpac.com




7000 Aluminum Bottom Panel
SEREPAC 1142HL., 1152HL and I152HS

6.87

@ .20 THRU
4PLC'S

~— 1./ —————————

N '35JK@.17 O/

\R.Oé

- 4PLC'S

— .13

11/23/2022
2009 Wright Ave. La Verne, CA 21750
Ph. (626) 331-0517 Fx. (626) 331-8584 serpac.com




7100TH Aluminum Hinged Top Panel Kit
SEREIPAC for IM142HL, I152HL and I152HS

SCREW (2)

pn 6029 PANEL HINGE A PANEL HINGE B

pn 1308 pn 1309

1~ 1
\ % ﬁ
GROUND SIIII&IE - ) HINGE PIN (2)
@ pn 1307

(2) SCREW pn 6028 and
(2) NUT pn 6105 (not shown)

\PANEL

pn 71020

OPTIONAL KIT
— (2) SCREW
R pn 7100TH
8.04
PARTS INCLUDED IN pn 7100TH
P/N Qty. Description
13 /1020 | Aluminum Hinged Top Panel
- 6029 2 SS #10 X 3/8" Pan HL Screw
(= | == 6030 | 2 |SS#10-32 X 3/8" Pan Combo Screw HL Screw
| 6105 2 SS #10-32 X1/8" Nut
| ;—r 6028 2 SS #10 X 5/8" Pan Combo HL Screw
_ % 1307 2 Hinge Pin
1308 1 Panel Hinge A
1

1309 Panel Hinge B

5/22/2023

2009 Wright Ave. La Verne, CA 21750
Ph. (6268) 331-0517 Fx. (626) 331-8584 serpac.com




PAC

ectronic Enclosures

71020 Aluminum Hinged Top Panel
1142HL, I1152HL and I152HS

1.71

3.09
35— 1.33
B M
07 /\
R.13 O
6.14 2.12
5.42
2.83
@ .20
4PLC'S \O
3.78 /& R.38

r.13

!

8.04

5/22/2023

2009 Wright Ave. La Verne, CA 21750
Ph. (6268) 331-0517 Fx. (626) 331-8584 serpac.com




SERPACGC 7100HP Plastic Hinged Top Panel Kit for

Electronic Enclosures I‘I 42H I_' I1 52H I_ qnd I1 52HS

8.12
A~
A~
(<)) ¢\
HINGE (LEFT) HINGE (RIGHT)
pn 1310 pn 1311
B B
6.19
5.95 PANEL
Customizable /7pn 71021
Areq
SCREW (4)
\ pn 6028
&)
N —
A <—, 86 x 45°
TYP
7.88

Customizable Area

= =

/.82

SECTION B-B

o

SECTION A-A

—— 7
= 93
5AG &
amy
o/l
S
OPTIONAL KIT
pn 7100HP
PART INCLUDED IN pn 7100HP
P/N Qty. Description
71021 1 Plastic Hinged Top Panel
1310 1 Hinge - Left
1311 1 Hinge - Right
6028 4 SS #10 X 5/8" Pan Combo H/L Screw

11/23/2022

2009 Wright Ave. La Verne, CA 21750
Ph. (626) 331-0517 Fx. (626) 331-8584 serpac.com




71021 Plastic Hinged Top Panel
SERPALC 1142HL, I1152HL and 1152HS

8.12

A

5.95

Customizable
Ared

3.78
B -

7.88
Customizable Area

,

7.82

10
\ 7
A
* 5.89
6.19
2.82
02
RECESSED
@)
: — %
_ 84X 45° 45
4PLC'S - 57 =
SECTION B-B
SECTION A-A

11/23/2022

2009 Wright Ave. La Verne, CA 21750
Ph. (626) 331-0517 Fx. (626) 331-8584 serpac.com




	I162HL
	Drawing View2
	Section View B-B
	Section View A-A
	Drawing View53

	MOUNTS
	Drawing View14
	Drawing View56
	Drawing View57

	7100T
	Drawing View33
	Drawing View46
	Drawing View52

	71040 AP-1(2)
	Drawing View60
	Drawing View61

	71000B
	Drawing View35
	Drawing View54
	Drawing View55

	71000 AP-3(2)
	Drawing View62
	Drawing View63

	7100TH
	Drawing View41
	Drawing View58
	Drawing View69

	71020 AP-2(2)
	Drawing View64
	Drawing View70

	7100HP
	Drawing View42
	Section View A-A
	Section View B-B
	Drawing View59

	71021-ABS(2)
	Drawing View66
	Section View B-B
	Section View A-A


